An excerpt from Alg2Pak V1.0, by Tamkis!

Log2Exp


This program is same as the previous, but instead, it converts logarithms into exponentional expressions. The conversion is as follows:

Logbase ans=exp to Baseexp=ans
All that is needed is to insert the problem of the log! The following pictures convert Log9 81=2 into 92=81.

Steps:

1. Launch Log2exp.
2. The calculator will first ask the user for some values for variables.



First, input the base of the problem/exponentional expression.



Next, input the answer of the problem/exponentional expression.



Lastly, input the exponent of the problem/exponentional expression.

3. Lastly, the calculator will calculate the exponentional equivalent for the logarithm. 
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